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Homework 1

1) Write a program to compute and print the sum, difference, product, division of two numbers A and B supplied from keyboard. Use +, -, *, / for arithmetic operations. Try to give zero to B and observe the results.

Solution:

Here is a code which tries to do it.

Program odev1

implicit none

real:: A, B, sum, difference, product, division

print*, "Please enter two numbers as A and B for arithmetic operations"

read*, A, B

sum= A+B

difference= A-B

product= A*B

division= A/B

print*, sum, difference, product, division

End Program odev1

I compiled the code and run it. The output is:

Please enter two numbers as A and B for arithmetic operations

3,9

12.000000          -6.000000          27.000000          3.333333E-01

Press any key to continue

Second trial:

Please enter two numbers as A and B for arithmetic operations

2,0

In order to see what is happening, I ran it in the location of exe file:

Microsoft(R) Windows NT(TM)

(C) Copyright 1985-1996 Microsoft Corp.

z:\>c:

C:\>cd msdev

C:\MSDEV>cd projects

C:\MSDEV\Projects>cd odev1

C:\MSDEV\Projects\odev1>cd debug

C:\MSDEV\Projects\odev1\Debug>odev1.exe

Please enter two numbers as A and B for arithmetic operations

2,0

run-time error M6103: MATH

- floating-point error: divide by zero

C:\MSDEV\Projects\odev1\Debug>

The program didn’t give any results to 2,0 because 2/0 is undefined in real numbers.

2) The energy stored on a condenser is CV2/2 where C is the capacitance and V is the potential difference. Write a program to compute the energy for some sample values of C and V.

I created odev2 file and pressed Files into Projects. I put odev2.f90 under Debug file and opened the odev2.f90 and started to write the program.

Program odev2

implicit none

real:: C, V, E

print*, "Please enter capacitance and potential difference"

read*, C, V

E=C*V**2/2

print*, E

End Program
odev2

I builded exe file and run it.

Please enter capacitance and potential difference

2,3

9.000000

Press any key to continue

I ran it again:

Please enter capacitance and potential difference

9,8

I openned a Command Prompt and ran it again:

Microsoft(R) Windows NT(TM)

(C) Copyright 1985-1996 Microsoft Corp.

z:\>c:

C:\>cd msdev

C:\MSDEV>cd projects

C:\MSDEV\Projects>cd odev2

C:\MSDEV\Projects\odev2>cd debug

C:\MSDEV\Projects\odev2\Debug>odev2.exe

Please enter capacitance and potential difference

9,8

288.000000

C:\MSDEV\Projects\odev2\Debug>odev2.exe

Please enter capacitance and potential difference

10,11

605.000000
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